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• ke = âhe Ùee  pe e BÛe  k eâj  ueW efk e â F me  Ø e Mve -he $e  ce W ce gefõle  he =‰  8 le Le e            
Øe Mve   19  nQ~ 
Please make sure that the printed pages in this 

question-paper are 8 in number and it contains 

19 questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s keâes[ vecyej le L e e mesš ke âe s Úe$e  
Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W~ 
The Code No. and Set on the right side of the 

question-paper should be written by the candidate 

on the front page of the answer-book. 

• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙ e 
e fue Ke W~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : A 
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• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W~ 
Don’t leave blank page/ pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 
Candidates must write their Roll Number on the 

question-paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 
Je  me ne r nw , hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question-paper, no claim in this regard, will be 

entertained after examination.  

veesš :  (i) meYeer ØeMve DeefveJeeÙe& nQ~ 
  All questions are compulsory. 

  (ii) ØeMve  mebKÙee  1 ceW 1-1 De b k e âe W ke s â  meesuen (i-xvi) Je ml e ge fve ‰  Øek e â ej  
k e s â  Ø e Mve  nQ~ F ve ke s â G òe j Skeâ Ùe e oes Jee keäÙ ee W ce W /efj ke äle mL ee ve e W k eâer 
h e tefle & ke â j ke s â DeLeJee efoÙe s i e Ùes e fJe k e âuhe e W ce W me s mener e fJe ke âuh e  Ûegve ke âj  
oe re fpe S ~ 

  Question No. 1 consists of sixteen (i-xvi) 

objective type questions, each of 1 mark. 

These answers should be given in one or 

two sentences/by filling the blanks or select 

correct option from given options. br
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 (iii) ØeMve  mebKÙee  2 me s  11  le ke â ke s â Øe Mve 2 De b ke â eW k e âs  nwb ~ Ø elÙe ske â 
Ø e Mve  ke â e  G òej  ue ie Ye ie   25 me s 50 Mey oe W ce W oe re fpe S ~ 

  Question Nos. 2 to 11 are of 2 marks each. 

Answer each in about 25 to 50 words. 

 (iv) ØeMve  mebKÙee  12 me s 16 l e ke â ke s â Ø e Mve  4 De b ke âe W ke â s  nwb ~ ØelÙe ske â 
Ø e Mve  ke â e  G òej  ue ie Ye ie 75 me s 125 Me yoe W ce W oe re fpe S ~ 

  Question Nos. 12 to 16 are of 4 marks each. 

Answer each in about 75 to 125 words. 

 (v) ØeMve  mebKÙee 17 me s 19 l e ke â k e sâ Ø e Mve  8 De b ke âe W ke âs  nwb ~ Ø elÙe ske â 
Ø e Mve  ke â e  G òej  ue ie Ye ie 150 me s  200 Me yoe W ce W oe re fpe S ~ 

  Question Nos. 17 to 19 are of 8 marks each. 

Answer each in about 150 to 200 words. 

 (vi) 8 De b k e â eW Je e ue s me Ye er le e rvee W Øe Mve eW ce W De e vle e fj ke â Ûe Ùe ve  Ø e oe ve  e fke âÙe e 
i e Ùee  nw~ S smes Ø e Mve e W ce W me s De e he ke â eW k e sâJ e ue  Skeâ ne r Øe Mv e  ke âj ve e nw~  

  Internal choice has been provided in all three 

questions of 8 marks each. You have to 

attempt only one of the given choice in such 

questions. 

 (vii) G òe j  meb e f#e hle  De ewj  Øe Mve  ke s â  De ve gke t âue  ne sve s Ûee efnS ~ 
  Answers should be precise and to the point.  

  1. (i) ‘YeejleerÙe ueeskeâlev$e’ keâe cetueeOeej keäÙee nw ?  1 

  What is the basis of 'Indian Democracy' ?  

 (ii) ‘ueeskeâlev$e’ keâer cegKÙe ßesefCeÙeeB keâewve-keâewve-meer nQ ? 1 

  What are the main categories of 

'Democracy' ?  

 (iii) ceefnueeDeeW Deewj heg®<eeW keâes YesoYeeJe jefnle JeÙemkeâ ‘celeeefOekeâej’ 
keâye efceuee ?   1 

  (A) 1939 ceW (B) 1945 ceW 
  (C) 1947 ceW (D) 1950 ceW 
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  When did women and men get the 'right to 

vote' without any discrimination ?  

  (A) 1939 (B) 1945 

  (C) 1947 (D) 1950 

 (iv) mLeeveerÙe mJeMeemeve kesâ meomÙeeW keâe ÛegveeJe ..................  
neslee nw~   1 

  (A) ØeefleJe<e& (B) oes Je<eeX kesâ efueS 
  (C) Ûeej Je<eeX kesâ efueS  (D) heeBÛe Je<eeX kesâ efueS 

  The election of members of Local- bodies 

Administration occur ………….. . 

  (A) Every year (B) For two years 

  (C) For four years (D) For five years  

 (v) ‘JewMeeKeer’ Deewj ‘heeWieue’ lÙeesnej keâye ceveeÙes peeles nQ ? 1 

  When did 'Vaishakhi' and 'Pongal' festivals 

celebrate ?  

 (vi) ‘YetceC[ueerkeâjCe’ keâe Skeâ DeeÙeece yeleeFÙes~ 1 

  Give one dimension of 'Globalization'.  

 (vii) [yuÙet0 šer0 Dees0  keâe DeLe& nw :  1 

  (A) efJeMJe JÙeeheej mebie"ve (B) efJeMJe DeOÙeehekeâ mebie"ve 
  (C) efJeMJe ßeefcekeâ mebie"ve (D) FveceW mes keâesF& veneR 
  What is the meaning of 'W.T.O' ? 
  (A) World Trade Organization  
  (B) World Teacher Organization  
  (C) World Labour Organization  
  (D) None of these  

 (viii) Dee]peeoer Øeeefhle kesâ meceÙe osMe keâer pevemebKÙee ueieYeie 
................... Leer ~   1 

  (A) 30 keâjesÌ[ (B) 35 keâjesÌ[ 
  (C) 45 keâjesÌ[ (D) 50 keâjesÌ[ 
  The population of the country at the time of 

independence was about ..................... .  

  (A) 30 Crore (B) 35 Crore 

  (C) 45 Crore (D) 50 Crore 
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 (ix) ‘ o me e sme & Dee @he â  ve e@ue spe ’ hegmlekeâ efkeâmeves efueKeer ? 1  

  Who wrote the book 'The Source of 

Knowledge' ?   

 (x) henueer DeeOegefvekeâ pevemebÛeej ceeOÙece (ceeme ceeref[Ùee) mebmLee keâe 
ØeejcYe ngDee :   1 

  (A) efØebš ceeref[Ùee Ùee Øesme mes  
  (B) Fueskeäš̂e@efvekeâ ceeref[Ùee mes 
  (C) ßeJÙe-ÂMÙe ceeOÙece (Deeef[Ùees-efJepegDeue ceeref[Ùee) mes 
  (D) Fve meYeer mes 
  The 1st modern mass media institution 

began  from :  
  (A) Print Media or Press 
  (B) Electronic Media 
  (C) Audio-Visual Media 
  (D) All of these  

 (xi) heefMÛeceer efMe#ee heæefle ‘je°^Jeeoer’ Ûeslevee SJeced ‘GheefveJesMe’ 
efJejesOeer Ûeslevee keâe ceeOÙece yeveer~  

                  (melÙe/DemelÙe) 1 

  The Western Education System became the 

medium of 'Nationality' and Anti-'Colonial' 

Consciousness.    (True or False) 

 (xii) nefjle ›eâeefvle kesâ ØeLece ÛejCe ceW «eeceerCe meceepe ceW DemeceeveleeSB 
yeÌ{erb~          (melÙe/DemelÙe) 1 

  During the 1st phase of Green Revolution, 

there was increase of inequalities among 

villagers.   (True or False)  

 (xiii) ‘ ef[e fJe pe ve  Dee @he â  ue sye j  Fve  mee sme e F še r’ kesâ uesKekeâ .......... nwb~ 1 

  (A) ogKeeace  (B) Jesyej 
  (C) otyes (D) FveceW mes keâesF& veneR 
  The writer of 'Division of Labour in Society'   

is ………….. .  
  (A) Durkheim  (B) Weber  
  (C) Dube (D) None of these 
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 (xiv) ‘Je s he vme  De e @he â  o Jee rke â’ hegmlekeâ nw :   1 
  (A) pescme mkeâe@š keâer (B) cevekeâj Dee@umeve keâer 
  (C) ceekeäme& keâer (D) FveceW mes keâesF& veneR 
  'Weapons of the Weak' is a book by :  

  (A) James Scott  (B) Mankar-Olsan 

  (C) Marx (D) None of these  

 (xv) peye ke=âef<e cepeotjeW kesâ heeme yengle efoveeW lekeâ keâece veneR neslee, lees 
Gmes ................ keânles nQ~   1 

  When there is no work for  long days to the 

agriculture labour, then it is known     as 

................ . 

 (xvi) ØelÙeskeâ JeÙemkeâ keâes ‘celeeefOekeâej’ efkeâmekesâ Éeje efoÙee ieÙee ? 1 

  (A) YeejleerÙe mebefJeOeeve Éeje  
  (B) YeejleerÙe mebmeo Éeje 
  (C) efveJee&Ûeve DeeÙeesie Éeje  
  (D) meYeer kesâ Éeje 
  By whom the 'right to vote' to every adult 

was given by ………….. .  

  (A) Indian Constitution  

  (B) Indian Parliament  

  (C) Election Commission  

  (D) All of these  

  2. ‘ pevepeeefle’ keâe DeLe& yeleeFÙes~ 2 

 Give the meaning of 'Tribe'.  

  3. šsueerefJe]peve (otjoMe&ve) kesâ oes  ueeYe efueefKeS~ 2 

 Write two advantages of Television (T. V.) 

  4. ‘mebmke=âefle’ keäÙee nw ? 2 

 What is 'Culture' ?  

  5. ‘meeceeefpekeâ Deevoesueve’ keäÙee nw ? 2 

 What is 'Social Movement' ?  

  6. ‘veeieefjkeâ meceepe’ keäÙee nw ? 2 

 What is 'Civil Society' ?  
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  7. ‘efkeâmeeve’ efkeâmes keâne peelee nw ? 2 

 Who is 'Farmer' ?  

  8. ‘«eece-mJejepe’ keâes ieeBOeer peer DeeoMe& ceeveles Les~ keäÙeeW ? 2 

 Gandhi Ji considered 'Gram-Swaraj' to be the 

ideal one. Why ? 

  9. ‘efJemebmke=âeflekeâjCe’ keäÙee nw ? 2 

 What is 'De-Sanskritisation' ?  

10. ‘meeceeefpekeâ heefjJele&ve’ efkeâmes keânles nQ ? 2 

 What is 'Social change' ?  

11. DeekeâeMeJeeCeer kesâ ‘efJeefJeOe Yeejleer’ Ûewveue kesâ yeejs ceW yeleeFÙes~ 2 

 Tell about 'Vividh Bharti' channel of 'All India 

Radio'.  

12. DeeOegefvekeâ keâeue ceW heefMÛeceer GheefveJesMeJeeo kesâ ØeYeeJeeW keâer ÛeÛee& keâjW~ 4 

 Discuss the effects of Western Colonialism in 

modern era.  

13. ‘veiejerkeâjCe’ mes peerJeve yeouee nw~ kewâmes ? 4 

 The life had changed by 'Urbanisation'. How ?  

14. jepeveweflekeâ oue efkeâme DeeOeej hej keâeÙe& keâjles nQb ? 4 

 How does political parties work ?  

15. efkeâmeeveeW Éeje keâer pee jner ‘DeelcenlÙee’ keâe mecyevOe ke=âef<e leLee DevÙe 
efkeâve veerefleÙeeW mes nw ? 4 

 How does 'suicide' by the farmers is related to 

agriculture and other policies ?  

16. meeceeefpekeâ Deevoesueve keâer cegKÙe-cegKÙe efJeMes<eleeSB yeleeFÙes~ 4 

 Give the main characteristics of Social 

Movement.   

17. [e@0 Sce0 Sve0 ßeerefveJeeme keâer ‘mebmke=âeflekeâjCe’ keâer DeJeOeejCee keâes 
mJeerkeâej Yeer efkeâÙee ieÙee Deewj DeeueesÛevee Yeer ngF&~ Fmekeâs he#e ceW             
leke&â oerefpeS~ 8 

 The concept of 'Sanskritisation' by Dr. M. N. Sri 

Niwas was accepted as well as criticized. Give 

logic in favour of this.  
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DeLeJee 
OR 

 DeeOegefvekeâ Yeejle ceW ‘meeceeefpekeâ-meebmke=âeflekeâ’ heefjJele&ve ueeves ceW 
‘heefMÛeceerkeâjCe’ keâer Øeef›eâÙee keâe keäÙee Ùeesieoeve nw ?  

 What is the contribution of 'westernization' in 

bringing 'social and cultural' changes in modern 

India ?  

18. ‘mebefJeOeeve’ keâes meeceeefpekeâ heefjJele&ve kesâ nefLeÙeej kesâ  ™he ceW          
Øemlegle keâjW~ 8 

 Depict the 'Constitution' as weapon for social 

changes.  

DeLeJee 
OR 

 ‘hebÛeeÙele’ keâe DeLe& yeleeFÙes~ hebÛeeÙeleeW keâes keâewve-keâewve-meer MeefkeäleÙeeB Øeehle 
nwb ? 

 What is the meaning of 'Panchayat' ? What are 

the powers of Panchayats ?  

19. ‘YeejleerÙe DeewÅeesieerkeâjCe’ keâer efJeefMe°leeSB yeleeFÙes~ 8 

 Explain the characteristics of 'Indian 

Industrialization.' 

DeLeJee 
OR 

 ‘YetceC[ueerkeâjCe leLee GoejerkeâjCe mes YeejleerÙe GÅeesieeW ceW heefjJele&ve 
DeeÙes~’ efJemleej mes mecePeeFS~ 

 In  Indian Industrial the changes were brought 

by 'Globalization'  & 'Liberalization'. Explain in 

detail.  
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